Addition and Subtraction
12 - 3 = ____                          12 - 7 = ____
13 + 3 = ____                          11 + 4 = ____
15 - 5 = ____                          17 - 5 = ____
16 + 4 = ____                          12 + 7 =  ____
14 - 0 = ____                          10 - 8 = ____

1. Josh has 9 sweets and Becky has 7 sweets. How many do they have altogether?

2. I have 15 cakes on a plate. My mum eats 6 cakes. How many are left?

3. Jake has 16 cars and Dom has 7 cars. Can you work out the total number of cars?

4. Sam has 18 flowers and Ben has 9 flowers. How many more flowers does Ben have?

5. [bookmark: _GoBack]Rosie collected 10 stamps. Jacob collected 8 stamps. How many stamps are there together? 
